.} DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12 NPCBO05 NEET PRACTICE QUESTIONS Time: 1.15 hrs
(2023-24) (TEST- 5) Total Marks: 240

General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries
4 marks. For each incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator

PHYSICS Q. No.1to 15

component) at this point be 0.3 gauss.

1. What is the Work done by the magnet of
moment M. If it is rotated through 360° in

magnetic field H?

A) 2rMH
C)0

H s&smhal yosdeo &Mbsd SamiusSmesr
M @&nedor &mbab gcsremm 360° &wpbm

@&iwiuipid Geuemen?
A) 2rMH
C)0

2. The ratio of intensities of magnetic field,
at distance x and 2x from the centre of
magnet of length 2 cm on its axis will be

A)1:4
C)4:1

2 Q&8 Bororor ®RM HTHSSHE6T
cowwHSeSIHHE X wHDD 2X  HITHSHleo
X-31§8 6o sHsUILeo OlFdasefler ef&Hlsh

A)1:4
C)4:1

3. AVery small magnetis placed in magnetic

The magnetic moment of the magnet is.

A)2.4 x10%e.m.u

B) 8.0x 102e.m.u
B) 2 MH C)1.2x 103e.m.u
D) MH D) 3.6 x 10° e.m.u
BMhs  HIHUSSTSSI0  OEUsHILT L ®aH
bl smhssSler OscT (Wover, a_Slens
Crrsd 2_crarg). HNbssSlcr coWILSSESBHS)
20 QLA aployeireif]

B) 2 MH

O sTemeveileo
D) MH

SleowbgloTorg. Sbs Ucteflufico uel &mHS
yeosSesT Sy 0.3 &ren ereofled (Hlemi ot 1
se. M) Db Yareflufleo &MbsS SlpiLs Smeoflesr
B)1:8 Sy

A)2.4 x10°e.m.u

B) 8.0x 102 e.m.u

C)1.2x 10°e.m.u

D) 3.6 x 10°e.m.u

D)8 : 1

B)1:8
D)8 : 1

4. Alarge magnet is broken into two pieces,
so that their lengths are in the ratio 2 : 1.

Then the pole strength of the two pieces

Meridian with its south pole pointing
north. The null point is obtained 20 cm
away from the centre of the magnet. If
the earth’s magnetic field (horizontal

will be in the ratio.
A)1:1 B)1:2
C)2:1 D)4:1
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@ Ouflu srbswreorgy S Gieo(Hsorms

2 _ooL &&Uu[HISIDS)) 918607 Bormisserfleor
eN&Slsb 2 1 Guepid Bp sicor(Hseflesr (pemeor
aueSlemsefledr 651& &b
A)1:1 B)1:2
C)2:1 D)4:1
5. A cylindrical magnetic rod has length
5 cm and diameter 1 cm. It has uniform

magnetization 5.3 x 10° Am™. Its net
22
(=)

magnetic dipole moment nearly. 7
A) 107207
B) 0.5x107JT"
C) 2.5x107JT"
D) 2.5x107JT""
8(1h 2_(IHED6IT 6)lig 6) &b G & 600TLq 65T Bomib 5 O\&.18
wHMID DNGST 6 L b 1 O&F.B. gy OlubmyeiTer
Emmeor BHSWLIGSTT wSIy 5.3 x 103 Am™
B g oot @smruneot HaT &MHe SIHULSSIH6ST
22
II=—
( 7 )

A)
B) 0.5x1072JT"
C)

D) 2.5x107JT"

2.5x1072JT"

6. a - Particle is revolved in a circle of radius
r’ with speed v. Then find the value of
magnetic dipole moment

A)2evr B)3evr
C)devr D)evr
r I (LpeITeIT aIl_L_Uurem&ulleo &LEYID

o- giseflesr Gousdo AM™ eresfled, Bseir HMHS

SlmiusSSmest Sl
A)2evr B)3evr
C)devr D)evr

7. A metallic rod of length 20 cm is placed
north south direction and is moved at a

constant speed 20ms to wards east. The
horizontal component of earth magnetic
field at the place is 4 x 10 tesla and the
angle of dip is 45°, the e.m.f induced in

the rod is mV
A) 1.6 B) 160
C) 16 D) 32

o — Ogcr SHomauileo emeudsiUL (Heiter 20
©@&.38 Berpeirer 2_Boons s sesor(h), 20ms™ Ermeor
Gouss oo SpsE Gorssd BHEIBSIDE. DbHs
8L_s8lev yel BMHS LoodSledT SlevL_Sse6r sami
4 x 10 @Lsveon whHmid &Mbs Fifle Gamesrid

45° ereoflev, 2 Boons &8 6torlg 6o gitesor UL

Dleor Bwé@ oMemaufleor wHloy mV
A) 1.6 B) 160
C) 16 D) 32

8. At a certain place, the horizontal
component of earths magnetic field is
% times the vertical component. The
angle of dip at that place is
A) 60°
C) 90°

H GO L. &1L_58l60 yeiufletr SlemL_&ser

B) 30°
D) 45°

&6 60T S| D155t O\&FhRIE &8I F6 MHIGGT W SHIEHU
1

oSl Nl L_1hi@) 6Teofled Slhs SL_GSleor &bHs

&fley @amevorid

A) 60° B) 30°

C) 90° D) 45°
9. A body of mass 8 kg is hanging below
another body of mass 12 kg. The
combination is being pulled by a string
with an acceleration of 2.2 ms2 The
tension T, and T, will be (g = 9.8 m/s?)
A) 200N, 80 N
B) 220N, 90N
C) 240N, 96N
D) 260 N, 96 N
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8kg

8 &1.& Blemmuerer 6mp @um(HeT 12
&.85  Hlempwerer Gumpoflesr S
uLSSlev s igweury O&nmhisesl O
ul_(peteng).  Seuellemesoriy 2.2
Balil2 WHssSler 2 drer (B
Govaneor sUIDTL S(1R&H&UIU([H SIS
oleotley Ggedloms T, whgi T
(g = 9.8 Baf1?)

2

A) 200 N, 80 N B) 220N, 90N
C) 240N, 96N D) 260 N, 96 N
T1
V'
12kg
a
“-rz

8kg

10. Two blocks are in contact on a friction

less table. One has mass m and other
has mass 2m. A force F is applied on
2m as shown in figure. Now the same
force F is applied from the right on m. in
the two cases respectively. The ratio of
force of contact between the two block

1.

will be.

om = F | 2m
m|<— m
TTTTTT7T7 TT77/777
A) Same B)1:2
C)2:1 D)1:3
Sr6vor (i) &L_60L_&6IT 0(1H

2 gmbeubhm GuwemLwL et O (&
@&nesor(HoTengl. 6(H  &HL_coLulledr
iBlemm M wbH mib wH O &L 6mL_uSledr
Hlemm 2m.
Blemmujerer &1 emLulledr B UL GSlev

F ereorm oNlems 2m
SITL_Lq W6TET U M) @&woevu(h Simg).
Coapdb BsH dorey ey F
Bleom mesr  euevgl  UMSSHEODHS
©&nI55UU[H SDs. SIH &L coL_&eifleor
@& eSlemssafler aS&IS0.

omt=F F|2m
m|<+— m

ITrrrrrrry ITrrrrry

B)1:2
D)1:3

A) wrorg)
C)2:1

A horizontal force 25 N is necessary to
just hold a block stationary against a
wall. The coefcient of friction between
the block and wall is 0.4 the weight of
the block is

L~
25N z
— ) =
—
A)2.5N B) 20 N
C)10N D) 5N
&L _60L 60636 sreuiflev

sa|blemevulley smii&lGliq usHaTeT
SleoL ol L 6Slems 25N. &1°_ 6oL &G
SooL_Uul_L

FeN(H&&GHD 2 mmiey

&OTSLD 0.4 61601160, &1 6oL _uSl6oT 6T
L~

25N
—

AN
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A)25N B)20 N 14. Two masses of 5 kg and 10 kg are
C)10N D) 5N connected to a pully as shown what

12. A block of mass M is pulled along a will be the acceleration of the system

horizontal friction less surface by a rope (g — acceleration due to gravity)
of mass m. If a force p is applied at the
free end of the rope. The force exerted
by the rope on the block will be

A) M+m B) M+m
P M P
M P
M
C) o D) M/, . 5kg
10kg
m blemp ©O&neor o  suSlbmmey
M Blemn O&neor. &L 6oL 66T A)g B) % C) % D) %
o mmieubm  HleoLdser  urdllev
S(ssiLE S Sl Blotr 5 &8 wHmb 10 &.& Hlewmujeirer
o povenflls p orep  eSlows Smounmersar  &sU0  cpesTdlev
@&FmIS5UUH SlDE. SUIM &1 emL_uSlest N Sr-tel oyl
. . A &606001 88 8 UL (1) 6T 6T 60T ercofleb
BGweb @&FW6LU(H HGHID 6Slens
@sTE&Uller (WH&&HD (g — 6resTus)
A) M+ m B) e yel) Fritiy (w(h &&1b)
P M P
M P
M
O M D) s s m
13. Two bodies of mass 3 kg and 4 kg
are suspended at the ends of mass
less string passing over a friction less
pully. The acceleration of the system is 5kg
(9 =9.8 m/s?)
10kg
A) 4.9 m/s? B) 2.45 m/s?
C) 1.4 m/s? D) 9.5 m/s? g g
) 1.4 mis ) 9.5 mis Ne BIY, 0% DY,

3 kg whmibd 4 kg Hemmuerer SH
@urpL_seiT Hlemmwibm 6(H Sullhmmey
SoooordsUUl_ (K 2 mmieubm &0l

15. A block of weight 4 kg is resting on a
smooth horizontal plane. If it is struck
by a jet of water at the force of 20N

@sv&SmaEH.(g = 9.8 m/s?
oudluns GlFcuEins!(g ) and at the speed of 10 m/s the initial

oreofleh QpT& LSl Wp@ded acceleration of the block is
A) 4.9 m/s? B) 2.45 m/s?
C)14m/s>  D)9.5m/s? A) 15 m/s* B) 10 m/s?

C) 2.5 m/s? D) 5 m/s?
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4 5.5 blemmuyeirer
cupaIpLIUTesT SlemL_&germ urtbley 6ilicy

&HL_60L_

iBlemevullev 2_eiterg. 20 N eSlem&wL_ 6ot
10 mis Gaussdlov O&cvend Bif

O  caTOIeSHHEH  ©ovsifleu(mid

8 600T GO0T [TIT6L @ursepmiorm
@&swdU’ LTeb S 2 6oorT(HLd
W H &b

A) 15 m/s? B) 10 m/s?
C) 2.5 m/s? D) 5 m/s?

CHEMISTRY Q. No. 16 to 30

16. Oxidation state of Iron and the charge
on the ligand NO in [Fe(H,O).NO]JSO,
are
A) +2 and 0 respectively
B) +3 and 0 respectively
C) +3 and -1 respectively
D) +1 and +1 respectively

[Fe(H,0),NOJSO, 6TGOTM
@aiwgHeo Sapllesr N&HABeorHm Hlomeo

60 600T )&

wihmub FFeofll NO 661 Baneor Wleiraiemd b&Hlweor
oo mGw
A) +2 wiHmib 0
B) +3 wbhmib 0
C) +3 wihmibd -1
D) +1 wihguo +1
17. As per IUPAC guidelines, the name of
the complex [CO(en), (ONO) CIICI is

A) Chloro bis ethylene diamine nitrito
cobalt (I111) chloride

B) Chloridobis (ethane -1, 2-diamine)
nitro-K-o-cobaltate (lll) chloride

C) Chlorido bis (ethane -1, 2-diammine)
nitro-K-o-cobalt (1) chloride

D) Chlorido bis (ethane-1, 2-diammine)
nitro-K-o-cobalt (111) chloride

IUPAC oo maaficsr Ulg.
[CO(en), (ONQO) CIICl etesrm Siewemrons
@eiwsSlest Gluwi
A) &B@armf@L_mSl6to (Fr&8 60T -1, 2 6w
SiBeor) cmm_ G @asmumeo@_ (l11)
&Goremu(p)
B) @®@ermf@L_mSletv (Fr&8 8661 -1, 2 6m1L_
S18651) emmL_Brm -K- O- @asmumeo@Lt
(1) @@armemu(pH
C) ®Bormf@L_mSl6to (Fr&8a 60T -1, 2 6mIL_
S1866r) emmL_ B -K-O- @asmumeo@L_1
(I @@armemn(p
D) &Bermf@L_mSl6o (Fr&8a 601 -1, 2
oL SiBesr) soml o B -K-O-
Bamuneo@L1” (I11) @Bermemm(y)

18.IUPAC _name of the
K,JAI(C,0,)] is

A) Patassium tri Oxalato aluminium (lll)

complex

B) Potassium tri oxalato aluminate (II)
C) Potassium tris oxalate aluminate (Ill)

D) Potassium tri oxalato aluminate (lll)
K,[AI(C,0,).] ererm Slememrons BesiindSHledr
@uwir IUPAC @uwii
A) Qum’_L_nr&wib _sor é58e01”_ G
Sispibleoilwid (I11)

B) @Qum’__r&lwib _cor HpéeB@e0” @Lmr
Slepbl@eor” (I1)

C) @Oum_L_n&wibd 1Moo 580" @i
Slepnd@eorr” (I11)

D) @um’_L_r&wib ”_sor &5 B
Slenbl@eor” (111)

19. A magnetic moment of 1.73 BM will be
shown by one among the following?

A) TiCl, B) [CoCl ]*-

C) [Cu(NH,), 1>+ D) [Ni(CN),J*-
6657621 (1H 62 60T 61 D M6 1.73 BM HHS
SuysSlmedt wHlislemeors Olub meiTer &) 6187

A) TiCl, B) [CoCLJ*-

C) [Cu(NH,), 1>+ D) [Ni(CN),]*-
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20. Which type of isomerism is exhibited by
[Pt(NH,),Cl.]?

A) Coordination isomerism

B) Linkage isomerism

C) Optical isomerism

D) Geometrical isomerism
[Pt(NH,),Cl,]
Oubmerer wrHMHIWID

oTedTm  Dlewesoreyd  @afoib

A) Siemesore) bW

B) &emevortiy wmbdwid
C) oofl&pb& wmbShwuib
D) euq 6u wmimlwib

21. Which one of the following pairs
represents linkage isomers?

A) [Cu(NH,), (Ptcl),] & [Pt(NH,),(CuCl,),]

B) [CO(NH,), (NO,)ISO, &
[CO(NH,).(ONOY)]

C) [CO(NH,), (NCS),ICI &
[CO(NH,),(SCN),ICI

D) both (B)and (C)

65T 62 (1 62 66T 6 D MIGIT Semeworiy

wrHdwhIsem6TsS EMOIING(HID &S 6m e &orT o187
A) [Cu(NH,), (Ptcl),] &[Pt(NH,),(CuCl,),]
B) [CO(NH,), (NO,)ISO, &
[CO(NH,).(ONO)]
C) [CO(NH,), (NCS),ICI &
[CO(NH,),(SCN),ICI
D) (B) wibgib (C)
22. Which of the following is paramagnetic
in nature?

A) [Zn(NH,), >
C) [Ni(H,0),J*

B) [CO(NH,).J**
D) [Ni(CN)4]2'
65T 621 (15 61 60T 6 D My 6T U &ITTH & 8 &65T6mID
2 6oL WG 618)?

A) [Zn(NH,),**
B) [CO(NH,),J**

C) [Ni(H,0),J*
D) [Ni(CN),]*

23. Fac-mer isomerism is shown by
A) [CO(en),J**
B) [CO(NH,), (CI),I
C) [CO(NH,),(CI),]
D) [CO(NH,),CI]SO,
sy wHpb  OBHeeer  WLIHHUGBIGEDET)

@ubHdBULS) eT&I?
A) [CO(en),**
B) [CO(NH,), (CI),]
C) [CO(NH,).(CI),]
D) [CO(NH,).CI]SO,

24. Which of the following is electron

deficient?

A) (BH,), B) PH,

C) (CH,), D) (SiH,),
9165162 (M 66T UM MHl6L 6T6VEL_[TT6E0T

&oomun(h 2oL w G 618)?

A) (BH,),
C) (CH,),

B) PH,
D) (SiH,),

25. XeF, is isostructural with

A) SbCl, B) BaCl,

C) TeF, D) ICI,

XeF, 2 1 60T 55 6l eIemIUL

&@)I_UJQJ

A) SbCl, B) BaCl,

C) TeF, D) ICl,
26. Which of the following is a polar

molecule?

A) SiF, B) XeF,

C) BF, D) SF,
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65T 62 (IHGU6DT UMD MHl6L SHI(H6Y SlesraupoucTaubdlcy 6rg Wles isls

epovd e m) 6187 SHpomeor 2_hS SIUY 2oL WEI?
A) SiF, B) XeF, A) CO, B) CH,
C) BF, D) SF, C) NH, D) NF,

27. Which of the following is paramagnetic?

BOTANY Q. No. 31 to 45

A)CN B) NO*
~ 31. Multiple phenotypes seen in
C) CO D) NO;
UNTITT &5 & 65T GMLDIL|GOL_ILE) 6187 A) Multiple gene inheritance
) B) Pleiotropy
A)CN B) NO* C) Multiple allelism
C)CO D) NO, D) Co-dominance
28. Dipole induced dipole interactions are U6V UeoT Um&GBSMbHMID SHTesriIu(E 6]
present in which of the following pairs? 61817
A) HCI, He B) SiF,, He A) usvge.l”_(i Iy unTbur lwib
C) H.0, Alcohol D) Cl, CCl B) ubudor G DigeSTemio
coho

2 Ay C) usv&a L' (5 DicveSeua6ir

SledTeU(IHLD Somersoifley erSlev D) S 0007 @bIGS eI

S (H (W 60601, HIT6ooTL_UUL_L E&S(H (L 60601

HoUi&S 2_ooLwgy? 32. Which of the following is an example of
A) HCI, He B) SiF,, He pleiotropy?
C) H,O, Alcohol D) CL, CCl, A) Starch synthesis in pea
29. Be?* is isoelectronic with which of the B) Phenylketonuria
following ions? C) Sickle cell anaemia
D) all of these
A) H* B) Li*
C) Na* D) M92+ ggp&}aij"_ﬁ).lﬂ‘)!ﬁ]d) O—I'g_l Ud)UGifl'u

&61 MG OTEMLDE () 6T(h 8IS &M (1)
A) ul_LnexflSlesr 18 2 _Hus s
B) Slemeor6v& GLmibluyflwim
C) sSliifleuner SréHsCsnoms

)

Slesroupld  Swedflsefles  erg  Be?
SweflyLesr 055 un  Geuerfl
6T6LSL_[TITGOT oMU 6mL_WG)?

A) H* B) Li*

C) Na* D) Mg#

30. Which of the following molecules has

D) Si6m601 58I

33. Inheritance of human skin colour and

the maximum dipole moment? height is

A) CO, B) CH, A) Mendellarﬁ |.nher|’Fance

C) NH, D) NF, B) Monogenic inheritance
C) Complementary inheritance
D) Polygenic inheritance
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35. Ratio of supplementary genes

6ot & 6ofl 6o 2 _wrb W Hmd
Caeuiblngoms &L (Hiub Ssious!

A) @ esor_eShw umribufhwib

B) Gun@eormghlestld ummibuiflwid

C) Blrty unmbuflwib

D) usviorugsy umrbuifhuib

34. Percentage of heterozygous individuals

obtained during selfing of Rr individuals
is

A) 100 B) 75 C)50 D)25
Rr & euliy @ &b Gung 2 (HeumEh
@aml"_1q Grremn&&eiv S s &eor
&85635\D 616516017

A) 100 B) 75 C)50 D)25

A) 15:1 B) 12:3:1
C)9:34 D) 9:7

slomecwrrussbsetledr  UnsGsmbm
NS HID

A) 15:1 B) 12:3:1
C)9:3:4 D) 9:7

36. In Kernal colour of the Wheat R1 r1 R2

R2 express colour

A
B
C
D

Dark red

Medium Red
Medium Dark red
Light red

N’ N S N

Canglomwuilesr ellemsuemm HlinsSlev
R1MR2R2 @eveflu(h & 8ib Hlmib 616516017
A) SiLir flewtiy

B) Wlswmeor fleutiy

C) lsmest i leuiy

D) &err@p&leutiy

37. Phenotypic ratio of ABO blood group

codominance is

39. Phyllode is present in

A) 1:2:1 B) 12: 3:1

C) 9:3:3:1 D) 1:1

ABO S5 ocueonsWlleor & omeoor
I5!(8)& 65T LU 65T um8smbm
NSISID 6165T60T?

A) 1:2:1 B) 12: 3:1
C) 9:3:3:1 D) 1:1

38. Which of the following is not belongs to

intragenic gene interaction

A) Incomplete dominance
B) Co-dominance
C) Pleiotropic gene

D) Epistasis

S1pas6vorL_eumMlev 618
LDITUGED)I85 85 (6TH 85 (& 6T Gorr ibles (b
S oL FW6L Sicvev?

A) W (geowWwbHMm GMbIE, U6GoTL

B) & 6o 6001 911 (8 8 65T 601D
C) usvuetory &6 M)l & 63T GMLD
D) wemms 60

A) Asparagus

B) Euphorbia

C) Australian Acacia
D) Opuntia

B606050\HMlev & 6ot (b STesoTUIL(h 6US)
A) Siehourseio

B) wyGumi§hwum

C) @b 6r081CreSu 18a Fwir

D) sptiucsrerghwuim

40. Which of the following is not a stem

modification?

A) Tendrils of cucumber
B) Flattened structure of Opuntia
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41.

C) Pitcher of Nepenthes
D) Thorns of citrus

SDHEOTLUDMICT 618  HEUoTIq 65T

LOMH MI(H DI6LEV

A) y, &ewflullesr ub M eD)

B) sptiustraglwimeSlesr
8600r (h

C) @mbUiubh&eSl6oT (& (h coreu

&L_6OL_WIT6oT

D) erepidlé emeudiesr (pL_seir

How many plants among these have
—(China rose,
Ocimum, Sunflower, Mustard, Alstonia,

opposite phyllotaxy

Guava, Calotropis and Nerium)

A) Three B) Four
C) Five D) Two
e1Sliflemevemine) &eoru(p b

STEUNThIGET 6158 60607 — (em&eorm @meiv,

TR T G WwamhE), 5B (&,
Stcvor@GLeoflwn, @&smiwm,  6T(H&E
wHmIb Sirerfl)

A) epesTmy B) mimeir@

C) erbgy D) Suetor(p

42. |dentify wrong statement with reference

to root zone

A) Root hairs found in meristematic
zone

B) Meristematic zone consists of actively
dividing cells

C) Meristematic zone protected by root
cap

D) Zone of elongation is above the
meristematic zone

Gour weILeVD (GHMNSS SHoUmTeoT
gerH M) 61517
A) euerrmé s LD 68oTL_6V& Slev

Gaui gedlsseir smesriiu(G Slmg)

B) ouenmné e wetor_cusSlev Q&ML iihs)
uGUUGDL WD O1&F6LE6IT 2_6iTorm &)l

C) euernnné s LD6TOTL_6V8 & 60601
Gouewlg UTHIBTSSIDS)

D) @sevBl_ & u@Slwneorg ocuernmnds

6T 6v5 SID(& Gev 2_dTormg)

43. Multiple root cap is found in

A) Banyan B) Pandanus
C) Pistia D) Hibiscus
3BH &GS @ourt ewlg. orSlov
&neoriu(h Smg)?
A) Sp6ul01iD B) umesorL_cor 60
C) Sleroig wir D) smem§leiva oo
44. Root pockets are found in
A) Banyan B) Pandanus
C) Pistia D) Hibiscus
Geauif emuss6ir 615 5Teurs Slev
sneoriuh Smg)?
A) Sp6uloib B) umesorL_cor 60
C) Qletoiq wim D) smami§leingeio

45. Plants produce flowers and fruits only

once and die after a vegetative growth
of several years are called

A) Polycarpic perennials

B) Monocarpic perennials

C) Biennials

D) Annuals

seraumpnreflev sppemm WL (HGw
58I HMiSS) Sl65T 1biq UEm6

A) uevasmMuY STEUNTAIS 6T

B) som ssmiuy Sreunbiseir

C) rrrmesor (i} STQITThI&S 6T
)

D) gemmedor (b STeUThIS 61T
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ZOOLOGY Q. No. 46 to 60

46. Read the following statements and

select the correct option

i) Blood cells secrete fibres of structural
proteins called collagen and elastin
ii) Neuroglial cells protect and support
the nephrons
iii) Osteocytes are present in spaces
called lacunae
iv)Striated muscle fibres are bundled
together in a parallel fashion
v) Biceps are involuntary and striated.
A) Statements (iii) and (iv) are incorrect
B) Statement (ii) and (iv) are incorrect
C) Statement (i) and (iii) are incorrect
D) Statements  (i),(ii) and (v) are
incorrect.

~— N =

SledTeu(mHb &6 h Ml emeoTIuLg. &) & flwimeor

afleoL_emws Csiib0\s(H &&6 b

) S5 8 1650188611 1&TeVITER6STLOH MILD

6TOVIT6IVIQ.60T 6TeoTUU(HD &L L_emioliy
UTs S8 606l &8 &1 65T 6o

i) by Grréleflcy @& cvaseir
OB UITTG0T 8561 &5(&) UMGHISMUL|ID
BBHTOYD &(HEITDEOT.

(i) evm@Geor sTEOTUIL(H D

SooL_eveflserfley
g, 6o1q Qumem &L (1 so6iT
smeoorlIu(H S g).

iv) eufliyemLw &6mn& o6l &6t 6o
S6m600TILNG DIGMLDIHG) &DEDMILNGS
SIEDLDIH I 6IT 61T 60T .

V) 6ou@ &6 ((1HSM6VE &6DE 6T )
&H6dTe0ll & emEWwImeoT6mey hH M
auifliemL_weme.

A) sa Hmser (jii) oHmb (iv)

SOUMITEOT 66

10

B) de.(hmisserr (ii) o mid (iv)
&HOUMITCOT 66
C) ga Hmis6i (i) myb(iii) &eumimeot 6med
D) se.hmisseir (i), (i) odHmid (v)
& OUMITCOT 6DIGY.
47. Choose the correctly matched pair:-

A) Inner lining of salivary ducts —Ciliated
epithelium

B) Moist surface of buccal
Glandular epithelium

C.)Tubular parts of nephrons-Cuboidal
epithelium

D) Inner  surface of
Squamous epithelium.

sflursl  Qur@pbSlu  Semeworemwd

cavity-

bronchioles-

Caiib0\5(H d&ob.

A)2 1Bl BreTgSlesre 1 um DB &S
- @ nullemlp 6191565MIb

B)©\&i6sor 6ooL_85 (& DSl 6ot FFITLDITGOT

Guhurtiy - oy et9&eShwuib
C) @p:unmestaseflesr @G uGH -
HOTESHT Qg 6 6TNSeSwib
D) ey & & & &lomert [miesor &LpeSleot
2 6T Ghurdy — &L 6llq 6
611915 60w,
48. The colour in the brown fat is due to

A) Its larger capacity for generating heat

B) Large number of mitochondria
present

C)A high concentration of
containing myoglobin pigments

D) presence of chromaotophores

iron

voy Bim Gsmriy  HDsSSHG

SMT6ooTONS &(HUUG)I
A) 31518 SieTe| Oeulu 2_HudS)
B) 215)& 616001 6v0fl & cmasullevimeot

ool GLnsmeor_flwm 2_oiTer s

C) eow@Guwim@Germ9lesT Himibdlseiflev
Smller O&dley Silsb
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50. Intercalated

SUUSITEL

D. &Grmol_@Lr@uniser 2_eremsimev

49. Which of the following is most widely

distributed in the body forming major
part

A) Connective tissue
B) Epithelial tissue
C) Muscular tissue
D) Nervous tissue

Sledrau(poucoTaubmley 618  ASls

SO SiewiHE 2 L 60 SieowUemeor
2 _(HoUNd &b W&Ew
Slsp &g

A) Someworiy SHla

B) e191&65u6b Slar

un&sLDNS

C) som& Sla
D) miriby &

are the
communication junctions between the
cells of

discs

A) Cardiac muscles
B) Striated muscles
C) Adipose tissues
D) Nerve tissues

@ &6vLeSlemL 551 (h &6l 6T6OTUIE 6
61hs O&FLEHOHEHE oo G 2 eiror
@sNLiiy &FHSIIYSET (&b

A) &5W 5608 &56iT

B) 6uifls & om& &eir

C) diuq uiBuneiv Sl&daeir

D) by s Sl & &6

51. The most appropriate definition of

Neuroglial cells are that they are

11

A) Non sensory supporting cells
B) Secretory cells

C) Sensory cells

D) Sensory and supporting cells
by Grméserflwet ©\ 5608 (6TH & &T6E0T
Olseyb OQUIIHSHSLNGT  CIEDTWIEDMD
6T6OTUS)] <DH6DI6UE6IT

A) 2_coorii&Flwbm glemenor ©\&6086iT

B) &riy @ &evaeir

C) 2_ocwiiie)] ©G\&Fe6ua6ir

D) 2_ewriSlmesr ©&mesor_emey Wb mib

1606001 (015 6LE6IT

52. Except blood, the cells of connective

tissues secrete certain substances that
act as matrix. These substances are
A) Conjugated proteins

B) Signalling molecules

C) Cholesterol

D) Modified polysaccharides.
815855085 SN,
Slassefleor @acvser Gl _fldeons

Semeoorliy
(soTu@uUNRoTTE)  GFwWeLUHD  Hov
@unpL_somer &r&Sledimest. SHS
@un(pL_&eir

A) emeoota)U YT Shi&H6iT

B) &1518 6t(6h e 6v 8 &6 M) 6IT

C) @&imeveivl”_[rimev

D) rhHmdlwemind UL

uneS&md & 6o (1) &6

53. A gene showing co-dominance has

A) alleles that are recessive to each
other

B) both alleles independently expressed
in the heterozygote

C) one allele dominant on the other

D) alleles tightly linked on the same
chromosome.
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&560)600T 6O1HI(G) & & 60T GMLD GO

@eueflliu(p SHGHID IUEKD) 6TGTUS)

A) 60661 M8 \&M60T M) 6(h 18IS S
&60TEOIDIL_65T &3(1H& (& D
D16L656LE6IT

B) & etor(h 16065608 (6THLD
& 60T601 & O EFWINE
Lo ) UesoT 96t 600T 66N
@euefluu(y &501U(H SledTmeot

C) 6(1H 160656V WH@MITESTMIGOT B
Bl&6D ClowIS5ISInS)

D) SicveSeuaseir 6@

&CrnBnBambleyr SmysswNs
& 656001 68HUUL_(1) 6IT6IT60T.
54. Haemophilic man marries a normal
woman. Their offspring will be

A
B
C
D

All haemophilic
All boys haemophilic
All girls haemophilic
All are normal.

~— N =

81556 &&loy @rpmyemL_w

(D GwrsGleSlwur) <1, 600T, o(1H

Fngnreoor  (©lUG6DoT 65 600T Loaysréitﬂg)rra'ﬁ.

Siouiseifleor &GS eTeueum M) E(1HE (&L

A) SI60)60T6)(THID Sr56566 &floy
@rpmyeoL_welisserns

B) SicmeordH gl peoors0HID  SUSHSHEH
&8 CGpmyeoL weiserns

C) DiomerHg ©OuorHOHD SIH56
&8 CGBmyeoL weliserns

D) Sicmeotau(IHLD EI6LUNEOT I &H6ITITE

55. Achild’s blood group is ‘O’. The parent’s
blood groups cannot be

12

R GPHBISIC SIS 5 EUEHSWITET 5]
'0' WpGb. ubhBmmiseflesr Sussé
UGME 6THIONTEH &(Hd (WPLQ.IWIME)

A)A wibmitb B.

B) A wibmib A.

C)AB wHmibd O.

D) B wihmibd O.

56. In our society women are blamed for

producing female children. Choose
the correct answer for the sex-
determination in humans

A) Due to some defect in the women

B) Due to some defect like aspermia in
man

C) Due to the genetic make up of the
particular sperm which fertilizes the

€99
D) Due to the genetic make up of the

€99

Bd FeP&HSHSlcv CIUGTHT (&LDIH 688 6T

@ubhO@DHUUSIL OuestTsCor (& MHMID

&L Ouh Sloriser. eofl&iiserflev

urmeSleor  Blifesorws Slheneor  &iflwmeot

ofleoL_eows CsibO\s(H &&6 b

A) Queorsetley  Flov  (Gemmun(ysor
SITTEOOTLONG

B) & avorseitlev erevGluidlwm Gumesrm
&lov (& 6ODUM(H &6IT SHTTEHTLONS

C) SicorL @\&6Lemov &(HeME Gl&|b
GOWE L Nbsemiedlesr wIuaw)
2 _(IHOUMEHELD SHITT60OTLDNE

D) SievorL_ ©\ & 60651601 LDTUGK)

2 _(IHOUMEEID &I 60OTLONE
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57. Select the incorrect statement.

A) Human males have one of their sex-
chromosome much shorter than
other.

B) Male fruit fly is heterogametic.

50%

sperms have no sex-chromosome.

C)In male grasshoppers, of

D) In domesticated fowls, sex of progeny
depends on the type of sperm rather

than egg.

SQUMITEOT O5M_cors

Caiib0\5(H d&ob.

A)besflafley  peoorseifledr  umev—
&CmmGuor@smbdleb wHM®  RGTM
whHOmTesTemmenm 6Nl Ol&g
HOlwsns Sapd @ b.

B) <, 6001 vl & &1 Coumiu L
B 6015 015608606 O\&HTETOTL_8)).

C) <01 Qeur_[{ sHloflaseflsn,
50% N & c0)I& & 6iflev umeL—
&CrmGur@ambd &evemov.

D) suemiitiy Gasmiplaseiflev, &b s Slulleorifl st
ureSlestid (WL emLemw L 65l & e
60& WL CUTMIS &SI

58. Assertion : Male is haploid and female
is diploid in honey bee.

Reason : Sex depends on paired and
unpaired chromosomes in every organism.

A) Both Assertion & Reason are True &
the Reason is a correct explanation
of the Assertion

B) Both Assertion & Reason are True but
Reason is not a correct explanation
of the Assertion.

C) Assertion is True but the Reason is
False.

D) Both Assertion & Reason are false.

13

o HM: Byt daoifle, ¥, 6007
62H 6mMIDWID Wb mb (@uetor
Sr’_eoL_wwib ©O\&IT60TL_656).

SITT600TLD: uneSleorid 6TGITUG)]
6263161 2_u9lfleors Slepid
@ eirerr BGeomgq (& 60 600TIWITEOT )
b mub S6m600T HEHIULTS

&Comr@r@smbscmort) CUTMIS S8

A)sabHm whHmIb &rresord &Siresor(hLb
&fl wOMID SMTewTD For M M)I&ESTCoT
sflwreor 696 & &M@ b.

B) e m whHmibd &nreoord &iedor (kb
&fl, SpoormeL &HNMIGOID o HMIHS
gflwneor 6l & &b Dicvov.

C) sa.hmy &ifl, &sMTeooTd Houmy.

D) s hm wHmIbd snreord &mesor (kb
SRUM).

59. Persons with ‘AB’ blood group are
called as “Universal recipients”. This is
due to:

A) Absence of antigens A and B on the
surface of RBCs

B) Absence of antigens A and B in
plasma

C). Presence of antibodies, anti-A and
anti-B on RBCs

D) Absence of antibodies, anti -A and
anti — B in plasma

IABI
"I

SU6585 oacmsd O&TEsoTL_ eI &6l
@umkiseT" 6TGTM)
NGO &HEHUIU(H UG DEITEOT ST 600TLD

A 8155

@ hurtillev

Houtiugs)& & eifleor
,6511q C1e2 BT & 6IT
(erSlfv@UNHET  Gesorig&seT) A
b mb B &evevremin

B. Glemmsiowmadlev ,6071q. (0122657 & 61T
(erSlfV@UN(HET  Gredorig&HeT) A

b mub B &evevremin
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C.&8r65 Haiugmbsefles oTSIi—A
wHmIbd e1HlF —-B  6drIquUMg &6
(e1SlF@UN(HL_&6iT) SEHUIUSI.

D. QlemmeivomedleverSlii —A b mb 61T —
B <1,66119 UIMTLq &6iT (6THIT@UT(HL_&61T)
S6vous g).

60. Whichofthefollowingmostappropriately
describes haemophilia?

A) Chromosomal disorder
B) Dominant gene disorder

14

C) Recessive gene disorder

D) X-linked recessive gene disorder.

G651 6u(MH6U6sT UM MHl6L 618

oD GomSleSwimeShesmeor (BU656

&&loy Cmpmiy) 1bl& & siflwneor elem & &0Ms

S([MH&HGD.

A) &CrmGuwr@smb & smmun(y

B) gorhi(&1b H65TEmID LDITUGT) (& SHMUN(H

C) 62(h11(& U6TOTL| LDTUGID)! (86U (H

D)so@iuSlu  X- &mihs  LIUGD)
&oomun(y
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